blueteCH Hydraulic Equipments

» B4WMM SERiSi MANUEL UYARILI B4AWMM SERIES MANUALLY OPERATED
YON KONTROL VALFLERI DIRECTIONAL VALVES

> B4WMM serisi manuel uyarili yon valfleri, direk tip stirgiilii yonlendirme valfleridir. Baslatma, durdurma ve yad akisinin yéniini
degistirmede kullanilirlar. Bu seride detentli veya yay dénisli modeller mevcuttur.

B4WMM series manually operated directional valves one direct type directional valves. These valves are used to the start, stop and
direction of oil flow. This series with detent or return spring are available.

B4 WMM 6 E

|
o
—
|
l<
*

3 : Ug yol Daha fazla bilgi
4 Dort yol For further details

3 : Three oil ports
4 : Four oil ports

Kod yok : NBR kege petrol yalari icin
V' : FPM kege fosfat ester icin

No code : NBR seals for petroleum oils
Model V : FPM seals for phosphate ester

Kod yok : Yay geri donUslu

dlcii 6, 10, 16, 25 F : Detent geri donuslu

No code : Spring return
Size 6, 10, 16, 25 F : With detent
Sirgi gesidi

Model numarasi / Series number
Spool type Size6:50 Size10:10 Size 16: 30

D
|
R
E
C
T
|
O
N
A
L
C
O
N
T
R
O
L
V'
A
L
W
E
S

Teknik Bilgi / Technical Data

Olgii / Size 6 10 16 25
Debi / Max. flow rate (L/min.) 60 100 300 650
Calisma basinci / Operating pressure (Bar) ABP hatti 315, T hatti 160 / ABP port 315, T port 160

www.bluitech.com.tr

\



()lueteCh Hydraulic Equipments

» B4AWMM Model Siirgii Sembolleri BAWMM Model Spool Symbols
A, B F A, B A, B A B
Tl e WERERY WhRR Wl
P T P T
B

)
Ej
1,
B
E
4

AN T Y il
Y] DX - -

e el XEH) M-
“L IR
T s T TN e
Y s A KR (0

b e R

:

=
=

><
)¢
il

2
=

H—

—
1]

2
D
|
R
E
C
T
|
O
N
A
L
C
O
N
T
R
O
L
V'
A
L
v
E
S

XI5T
VAR A S IE
mﬁ[élm nﬁ%:
R XIE -
YR (X -
TIRHAER TR -
WISTEN  (XEJE -
XIKHOT  (XH
YISO [ -

**“S” slrgli sadece B4WMM16'da vardir.
** Only B4WMM16 with “S”

www.bluetech.com.tr
k\




L QN ——

» BAWMMSG Basinc Dismesi & Debi Egrisi B4AWMMG6 Pressure Drop & Flow Curves

" 7/ E / 6 Akis yonii / Flow directi
irai Sembolleri I$ yonu OW direction
- 10 / // / 5 ssfoo\ssymu‘ls P-A P-B A-T B-T
& 7
X 2% B
5 [V SN
5 // // 2 C 1 1 3 1
g 6 7 4 D 5 5 3 3
é\__' /é/ g - E 3 3 1 1
£y § 72 > F 2 3 3 5
§ /// G 5 3 6 6
g 2 H 2 | 4 2 | 2
& J 1 1 2 1
L 1 1 2 2
0 10 20 30 40 50 60 M 2 4 3 3
Debi / Flow (Limin) g ? :’ 2 ?
R 5 5 4
T 3 6 6
U 3 1 3 3
V 1 2 1 1
W 1 1 2
Y 5 5 3 3

7. noktada “R” stirglisti “B” pozisyonunda akis A-B
Point 7 is “R” spool on the “B” position, flow A-B

8. noktada “G” siirgiisti orta pozisyonda akig P-T
Point 8 is “G” spool in the middle position, flow P-T

» BAWMMS6 Montaj Olciileri B4WMMG6 Installation Dimensions

66.5
40.5
21.8

2
D
|
R
E
C
T
|
O
N
A
L
C
O
N
T
R
O
L
\'
A
L
\
E
S

10.3 12.5

31
5.95
16.25 _
26.55

32.5

44

www.bluitech.com.tr

AY



()llletQCh Hydraulic Equipments

» BAWMMI10 Basingc Dismesi & Debi Egrisi B4WMM10 Pressure Drop & Flow Curves
2 7
6 Sirgi Semboller Akis yonii / Flow direction
14 /] 5 Spool symbols P-A P-B A-T B-T
) T 1 24 AL 2 |2
e // B 2 2
| e 10 c 2 2 3 3
= L7
R s 8 / ) D 2 2 3 3
8 E 2 2 4 4
E S d 7 ”_ 1 F 1l 2 | 3 G
C gy Yy e G | 3 | 3 1 | 6
S = - 1 1 4 5
T g 2 = T 2 | 2 3 | 3
| L 2 2 3 5
O 0 20 40 60 80 100 M 1 1 5 5
Debi / Flow (L/min) P 3 2 5 3
N Q 2 2 4 4
A R 2 4 3
T 3 5 5 6
L U 2 2 3 5
Vv 2 2 4 4
C W 2 2 5 5
Y 2 2 3 3
O 7. noktada “R” surgUsu “B” pozisyonunda akis A-B
N Point 7 is “R” spool on the “B” position, flow A-B
4. noktada “G” slirguisii orta pozisyonda akis P-T
T Point 8 is “G” spool in the middle position, flow P-T
L » BAWMM10 Montaj Olciileri B4AWMM10 Installation Dimensions
V ~ 91 ~
54
A 50.8 ©
37.3 ~
L 27
V ) 16.7
E 3.2 18.5
S 1T, :
N :} N i A
YN T E
LU U, oG
T D (D
\
‘W& 4-910.5 L
N N
4-M6/12

v
www.ﬁluetech.com.tr

AY



@ bluetech e cqupmons

» BAWMM16 Montaj Olciileri B4WMM16 Installation Dimensions
2
138
. 101.6 N
) 76.868'1 g D
- 65.9 R I
50
184 | 18 33:“ R
A A g19 A t E
TN T
NIARNIVAR | |
L . O
X% 4 B 2-96 ‘g o g N
3-920 \ /-\ I}
y o
NN 0
g ) iR L
NPA amioze T 2menz Y at
C
O
N
T
» BAWMM25 Montaj Olciileri B4WMM25 Installation Dimensions R
O
L
195
) Y- V v
. 76.8 A
) 53
25 |, 292 L
\
s ™ ha E
Y T/ \ NP X - 6-M12/25 S
G oR"
AN 3-024.5 _/ f) _J s .':" e
\J N \J of

www.bluitech.com.tr

N\



()lueteCh Hydraulic Equipments

> BCB4 WH SERISi ELEKTRO HIDROLIK BCB4 WH SERIES ELECTRO HYDRAULIC
UYARILI YON KONTROL VALFLERI OPERATED DIRECTIONAL CONTROL VALVES

> BCB4 WH serisi valfler elektro hidrolik uyarili, sirgllu tip yon kontrol valfleridir.
Baslatma, durdurma ve yag akisinin yénlendirilmesinde kullanilirlar.

BCB4 WH series are electro hydraulic operated spool type valves. This series
are used to control the start, stop and direction of flow.

BCBAWH10 HE 50 / O G24 N ET S Z4/B0.8 P45 D1 V *

Olgii / Size ’7 Daha fazla bilgi

For further details
- Kod yok : NBR kege petrol yaglari igin
Kod yok : Yay geri donusl V' FPM kege fosfat ester icin

H : Hidrolik geri donusli No code : NBR seals for petroleum oils
V: FPM seals for phosphate ester

No code : Spring return

H : Hydraulic return Kod yok : Oransal basing diisiir(icii valfsiz
D1 : Oransal basing dsirtici valfl

Siirgii sembolleri igin tabloya bakiniz.

g . ¢ y No code : Without pressure
See the function symbol of spool valve reducing valve
D1 : With pressure reducing valve

Seri 20 : Olgii 10 Seri 50 : Olgii 16-32 Kod yok - Pilol basingsiz

Series 20 : Size 10 Series 50 : Size 16 - 32 P 4,5 : Pilot basingli, agma basinci 4,5 Bar

No code : Without pilot pressure
O : Yay geri donussiiz P4,5 : With pilot pressure
OF : Yay geri donlgsiz, detentli cracking pressure is 4,5 Bar

Kod yok : kisma valfsiz
B0.8 : kisma orifis dlciisti 0.8
B10 : kisma orifis dlgtisi 1.0

O : Without spring return
OF : Without spring return, with detent

Voltaj segenekleri/ Voltage alternatives kisma orifis 6lclisii1.2
G24 : 24V W220 : AC220V W110: AC110V kisma orifis 6lciisi 1.5
Kod yok : Manuel sinirfamasiz Omit if without plug-in throttleer
N : Manuel sinirlamali B0.8 : Throttle orifice size 0.8

B10 : Throttle orifice size 1.0
B12 : Throttle orifice size 1.2
B15 : Throttle orifice size 1.5

No code : Without manual overrides
N : With manual overrides

Kod yok : Distan pilot, digtan akisli Z4 : Soket Z5 Bilyiik soket
E : Icten pilotlu, distan akisli

ET :gigter? pilotlu, i%ten akgh Z4 : Quadrate plug Z5 : Large quadrate plug
T : Digtan pilotlu, icten akigl Kod yok - Pilot ayarsiz
No code : Externally pilot, externally drained S : Ayarlanabilir kisicil pilot girisi
E : Internally pilot, externally drained S1 : Ayarlanabilir kisicili pilot gikisi
ET : Internally pilot, internally drained o . .

T : Externally pilot, internally drained No code : Without pilot adjustment

2
D
|
R
E
C
T
|
O
N
A
L
C
O
N
T
R
O
L
V'
A
L
v
E
S

S : With meter-in pilot adjustment
S1: With meter-out pilot adjustment

Teknik Bilgi / Technical Data

Olgu / Size 10 16 25 32
& PAB. (Bar) 315 350 350 350

Gg Distan akish / Externally drained 315 250 250 250
%c% . . AC-100 AC-100 AC - 100 AC - 100
0 = T (Port) (Bar) Igten akisli / Internally drained
%»% DC-160 DC-160 DC - 160 DC - 160
g_:;gl ' AC - 100 AC-100 AC -100 AC - 100
§§ Y (Port) (Bar) Distan akigli / Externally drained DC - 160 DC - 160 DC - 160 AC - 160

Min. pilot basinci / Min. pilot pressure (Bar) 4,5-10 4,5-13 4,5-10 4,5-10

Mak. debi / Max. flow rate (L/min) 160 300 650 1100

www.bluetech.com.tr

\



L QNG —

» BCB4WH Siirgii Sembolleri BCB4WH Spool Symbols
WH A B WH A B
: ‘
P T
PA TB A B
poT PT
WEH A B WEH A, 8 WHA B WH |t
- A B/

WEH WEH

A, B
-H- -H-A
Yo 7 =L
pT T

W) -« REE
WEEET (XI -0 (XIRE
ST ORI -« AL
ORI (X -» T |
KNI
XINTEEI
XIZHI
KIRAATT
DARSLE DY
XX TZE
X HE]
RN
XIRE{EIE
ST

W

8% ¢

I
@

N
M
-,
l [
T
o |>
o
— ©

o
—

=
—
o
T

A, ,B
ST
PLT
A, ,B
o] ]
7] EN
Pl

I
S
m

v~

1l
-

1l
(]

-~
!
-

1l
=

1l
L

1l
-

=H=Nsls
I i

I
=

WH

EEEREEE

>
W

o
—

?‘

WEH

i

A B
=
b | KAV
P T

>
@

FIE
- |
%
:

o
—

2
D
|
R
E
C
T
|
O
N
A
L
C
O
N
T
R
O
L
\'
A
L
v
E
S

=
]

I
=

BEEE

**“S” slirgil sadece BCBWH16'da vardir.
** Only BCBWH16 with “S” spool

www.bluitech.com.tr

\



2
D
|
R
E
C
T
|
O
N
A
L
C
O
N
T
R
O
L
\'
A
L
v
E
S

www.kbluetech.com.tr

()llletECh Hydraulic Equipments

» BCB4 WH Pilot Akis Diizenlemesi BCB4 WH Pilot Fluid Supply
Ana valf 1 |
P Main valve /_
/
2172\ 7
Y
3

ﬁl\ i

BCB4 WH10 parca ¢izim agiklamasi / Explatination partial drawing

1. Igten pilot - distan pilot:
“P” hattinda M6 vida bulunan distan pilotlu valfi, icten pilotlu duruma dénistiirmek icin metrik 6 vida yerinden cikarilir.
2. 1. nolu civata sokuldugiinde 2 nolu M6 vida yerine montajli ise valf distan bosaltmalidir.

1. Internal pilot and external pilot:

The “P” port with M6 screw (3) is external pilot, to convert valve into internal pilot, the M6 screw (3) must be removed.
2. Internal drain and external drain:

Removing the bolt (1). to install M6 screw (2) is external drain.

L i
7 Sekil 1
1 i D ]
X P > :
\ Ana valf ZZXZZZAN
2 Main valve icten pilot
g Internal pilot Kapak
. Cover
=]
AT E ‘ Sekil 2
L.

Distan pilot / External pilot

BCB4 WH16 parca ¢izim agiklamasi / Explatination partial drawing

1. icten pilot - distan pilot:
Ana valfin yanindaki kapak sokildugiinde P hattinda bagh delikte bulunan pim agik pozisyonda ise valf i¢ten pilotiudur.
(Sekil 1) Valfi distan pilotlu pozisyona getirmek icin pim sokillr, ters cevrilerek P hattini kapatacak sekilde (Sekil 2) tekrar
monte edilir.

2. Distan bosaltma - distan pilot:
1 nolu civata sokuldiigiinde gorilen 2 nolu M6 vida yerine montajli ise valf distan bosaltmalidir. M6 vida yerinden ¢ikarilarak
icten bosaltmall pozisyona getirilir.

1. Internal pilot and external pilot:
Removing the sideward cover, installing the pim to allow “P” port with open position is internal pilot,
to convert the pim into “P” port with plugged position is external drain.

2. Internal drain and external drain:

Removing the bolt (1) and installing M6 screw (2) is external drain, unscrew the M6 screw (2) is internal drain.

\




